
4 – 6x60mm SH bolts 
• Four of these, along with four 6mm flat washers, are used to connect the frame to the top of 
the rear end (where the factory rack attaches). Two each side. Four 6x80mm SH bolts are includ-
ed in case you have a tail rack or other accessory already attached to the mounting points and 
need the extra bolt length. 

 

 
2 - 6x65mm SH bolts 

• The lower attachment point (attaches underneath the rear foot peg; replaces the foot peg 
stud) takes a 6mm nylock nut and 2 washers per side. Two 8x65mm SH bolts, 8mm washers, 
and 8mm nylock nuts have been included as well, as they may provide a better fit than the 6mm 
bolts. 

 

 
2 – 8x35mm SH bolts 

• These are to attach the rear support bar to each rack. 
 

• 1 nylock nut and 2 washers per side 

Thank you for purchasing Happy Trails products.  Our products are proudly hand  made in Boise Idaho, 

USA.  If you have any questions or concerns about the installation of this product, please contact us di-

Before you begin, place the bike on a hard level surface where you have 

room to work.  Lay out the parts included in this kit and compare to the 

parts list at the end of these instructions.  If any parts or hardware are 

missing, contact us immediately at the number or email listed above.  

Hardware kit: 

 
4 -  6x60mm SH bolts 
4 -  6x80mm SH bolts   
2 -  6x65mm SH bolts 
2 -  8x65mm SH bolts 
2 -  8x35mm SH bolts 
2 -  6mm nylock nuts 
4 -  8mm nylock nuts 
8 -  6mm FW 
8 -  8mm FW 

F650 CS SU RACK HTP1-2-1.1 

10/18/19 

JH 

Rev 1 


